JL_

Schétzung von Winkeln

Name:

L 0se jede Aufgabe.
1)
A
\B C
Durch welche

Moglichkeit wird
(JABC dargestellt?
A.93°

B. 164°

C. 140°

D. 54°

4)

A

e

Durch welche
Moglichkeit wird
OABC dargestelIt?
A.131°

B. 27°

C. 166°

D.6°

7) M

K

Durch welche
Maoglichkeit wird
OKLM dargestellt?
A.178°

B.67°

C.91°

D. 129°

2)

K

Durch welche
Moglichkeit wird
OKLM dargestelIt?
A. 122°

B. 44°

C. 90°

D.0°

5)

A

DN

Durch welche
Moglichkeit wird
OABC dargestelIt?
A.117°

B.2°

C. 149°

D. 178°

8)

A

B_— C

Durch welche
Maoglichkeit wird
OABC dargestelIt?
A. 76°

B.51°

C.15°

D. 141°

3)

6)

9)

"

Durch welche
Moglichkeit wird
OKLM dargestelIt?

A. 9

Antworten

B. 162°

C. 89°

D. 65°

A B C.
Durch welche

Moglichkeit wird
OABC dargestelIt?
A.9°

B.51°

C. 153°

D. 180°

Durch welche
Maoglichkeit wird
LABC dargestelIt?
A.1°

B. 96°

C. 120°

D.53°
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A

e

Durch welche
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7) M

K

Durch welche
Maoglichkeit wird
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2)

K

Durch welche
Moglichkeit wird
OKLM dargestelIt?
A. 122°

B. 44°

C. 90°

D.0°

5)

A

DN

Durch welche
Moglichkeit wird
OABC dargestelIt?
A.117°

B.2°

C. 149°

D. 178°

8)

A

B_— C

Durch welche
Maoglichkeit wird
OABC dargestelIt?
A. 76°

B.51°

C.15°

D. 141°

3)

6)

9)

"

Durch welche
Moglichkeit wird
OKLM dargestelIt?

A. 9

B. 162°

C. 89°

D. 65°

A B C.
Durch welche

Moglichkeit wird
OABC dargestelIt?
A.9°

B.51°

C. 153°

D. 180°

Durch welche
Maoglichkeit wird
LABC dargestelIt?
A.1°

B. 96°

C. 120°

D.53°

Antworten
1 C
2. C
3 B
4, B
5 C
6. D
7 B
8 C
9 D
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